
12 Physics and Fourier transforms

Fig. 1.5. The top-hat function and its transform, the sinc-function.

Its Fourier pair is obtained by integration:
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and the ‘sinc-function’, defined7 by sinc(x) = sin x/x, is one which recurs
throughout physics (Fig. 1.5). As before, we write symbolically

"a(x)• a sinc(πpa).

1.7.2 The sinc-function

The sinc-function sinc(x) D sin x/x has the value unity at x D 0, and has zeros
whenever x D nπ . The function sinc(πpa) above, the most common form, has
zeros when p D 1/a, 2/a, 3/a, . . .

7 Caution: some people define sinc(x) as sin(πx)/(πx), although without noticeable advantage
and with occasional confusion when the argument is complicated.


